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Note : English version of the instructions is printed on the back cover of this Booklet.
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ey Y

i aIfia ¥ T BIAUTH N AR Fohd A qY| 5,

e, “ag W e f veht F g3 A A 78
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wRmE ¥ S fe 8, 3uw At Afm & &=
TEg R ?

(a) Eiﬁ

(b) i i T8

(¢) ¥ (Cousin)

d =&

T3 5 cm B @t 7 g9 wF qEt w oo
wa §aR e fig p, Q 3R R &, @ fgw
PQRW@H‘F&'T&EI% sq.cm%?

253
6

25v3
4

25V3
@ =5

d 25v3

Twshiig Bys ABC s YR i 2 B=90° R |
BC W fig D 38 w&r g1 wman ® % frgst ABC
AR DBAGTHEI R | A AB:BC=m:n 8, @
A ABC : A ABD #1 2, 9 A Byt & &wat
I guIan 8 ?

(=) ~Snsmm

(a)

(b)

(b) n2:m?2
(¢ (m+n):n
(d (m+n)2:n2

foreht 2 fgM #, U 28 m w@rg Y @it S
Featet dar 2 | i A T TYH W TH Thl
H Y g AT R S AR F A A R
Ifz @t Y =g 21 m B, @ AR F 9/ AR
%Wéﬁﬂm(sq.mﬁ)W%,Wﬂ?;
T 98T Tl & ?

(a) 847

(b) 851

(c) 693

(d) 654

(2-A)

TF FAATHR AR H GHH AW F IR 1 §
fawfsra e smar ® frmd @ ofwat & s
TRE IE A @t g | M Fad R R @
{ T o # | AfE, w0 afEa, @ o1 e §
MMyRs T R F AT A A Frft ws T A
34 YHR T1 el & o 31 e ant # e
1 8 T T8 1 A feaa T g9 |y § 2
(a) kR
(b) 4
¢ 6
(d 8

T IuE % R o fafafea # @
T/ HUF TE R/E 2

1. 9@ N IgEmon Tl g wad qd

# I gHM FE Ig A AR AHAT AT
gy fagie &SR0 wRa I g T
o T Geam Hhe | 2 |

2.  uNE gR fEdt usw wi et oft fomg o
Ry 24 % foru wifts i wedt 2 |

3. M@ H I T Fumdsa
freifera 7 et 2

4. MG $ NN UH SR § Afwad D7
Te $ aty & fou oft I ® awdt 2
& % f @6g & A HEAl F GHedl
T 3EeH! IFHIGT T8 e foar o @ |

H9 féu U e &1 @ = wd I g
(a) Had 1

(b) e 1 3R 2

() aw 1,23 3

d) ad 2,334
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1. Pointing towards a photograph Mr. Ajit said, | 5.
“She is my father’s wife’s son’s only sister.”
What is the relation of the person in the
photograph with Mr. Ajit ?

(a) Daughter

(b) Mother’s sister
(¢) Cousin

(d) Sister

2.  Three circles of radius 5 cm each, touch each
other. If the points of contact are P, Q and R,
then what is the area of the triangle PQR in
sq.cm ?

25v3
(a) T
® B8 6.
4
25v3
&) —
2
@ 25/3

3. The right-angled triangle ABC is such that
4B = 90°. Point D is picked on BC such
that triangles ABC and DBA are similar.
If AB : BC = m : n, what is A ABC : A ABD,
where A denotes the area of a triangle ?

§8) i 2

(b) nZ:m?

(¢ (m+n):n
(d (m+n)?2:n?

4. On a large ground, there is a straight tall
vertical wall of length 28 m. A goat is tied to a
point on the ground which is at the middle of
the wall, using a rope. If the length of the
rope is 21 m, what is the area of the region
(in sq. m) around the wall that the goat can
access ?

(a) 847
(b) 851
(¢) 693
(d) 654
FWLB-F-GAI G )

A rectangular wall is divided into four squares
of equal size where there are two rows each
having two squares. The top left square is
coloured with green. If, including green, there
are three colours available and each square is
coloured using any one of these three colours
such that no two adjacent squares get painted
with the same colour; then how many colour
combinations are possible ?

(8) ~. 2
(b)) 4
() 6
d 8

Which of the following statements about
National Emergency is/are correct ?

1. A Proclamation of Emergency may be
made by the President only when the
security of India or any part thereof is
threatened by war or external
aggression or armed rebellion.

2.  The Government of India acquires power
to give directions to a State on any
matter.

3.  The Proclamation of Emergency does not
suspend the State legislature.

4, The Proclamation of Emergency can
continue for a maximum period of six
months at a time only if approved by
resolutions of both the Houses of
Parliament.

Select the correct answer using the code given
below :

(a) 1lonly
(b) 1and 2 only
(¢) 1,2and3only

(d) 2,3 and 4 only
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Y & IHdH A & R =mnde w
TR 9o % gey # fefofas su=i § @
HH-a1 T 777 2 2

(a) WHE & gHI TGl & HA-Y-HT 100 T
TU wEaia o Ugufa W wefia
TS A Hl T a1 a2 |

& wewn 6 afufs (S =meE % 3@
=iy 3w o fafeEsn) gro sm
& T AN fRar e ® |

() ale wfifs @ fsed w qga?ﬁ 2 &
SqrTEtS HEER H gt ® I el |
T g, o afufy f fod & sy
T W g # fa=r fRn smom swt 9w
EaTd wferd 8 |

Tsgufd gRT e 94 1 ey fou oM
YT AT S §SET S |

(b)

(d)

frafofiga & @ g i G20 wafimad w=an
22

1. gia fawm

2. wfrensit % Ag # fawm

3. woay fam

4. Tefree wdwfaes sragEm

Hr= fau e Fe w1 yE = T I g
(@) Faw 13 2

(b) Had 1,23 3

(c) ad 33K 4

@ 1,2,33MN4

10.

11.

(4-A)

frafafiga § & @b (SAARC) % 3w A

&

1. cféor ofdmn & & % Hedor S S En
& 3 Sfem Y orEE § gUR FHE

2. TfEw ufem & W OF uww AmfEs
srerffar it sgEn i 3@ gge
HET

3. el favaw, @y iR wHg@ #A
qEEA Bl wHH H ANGH FAT

4. HWHI9R ATGhaTg H THH HE $i fewn §
W HET

e fou T e F A = EE IW g

(a) haer 130 2

(b) ohad 1,23R 3

(¢ 1,2,33N 4

(d) ad 33 4

wwe e @i e @ Wa gg, frafifm
v frfafea fra faft &y fran Smar @ 2
(a) & H geu-Fere g @ e =

(b) e fafy

(¢) W I vaA faffm ik o faf
A FEw F TR W

(d) SdeTH

frafafga emivea (fwm) sfifirn w fEr
Hifsr

2Cu20 (s) + Cuzs (8) —— 6Cu (s) + SO2 (g)

frafafad & & s Ivams ok svEms &
(@) Cu(l) 3R Cu,SH S

(b) Cu 3 SO, % S

(¢) Cu3M SO,% O

@ Cu() 3R SO, % O
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7.  Which one of the following statements with | 9.
regard to the impeachment of a Judge of the
Supreme Court of India is not correct ?

(a) A motion addressed to the President,
signed by at least 100 members of both
the Houses of the Parliament is
delivered to the Speaker.

(b) The motion is investigated by a
Committee of three (2 Judges of the
Supreme Court and a distinguished
Jurist).

(¢) If the Committee finds the Judge guilty
of misbehaviour or that he suffers from
incapacity, the motion together with the
report of the Committee is taken up for
consideration in the House where the
motion is pending.

(d) The Judge will be removed after the
President gives his order for removal. "

8. Which of the following are India’s G20
priorities ?

1 Green Development

2.  Women-led Development

3.  Climate Finance

4.  Digital Public Infrastructure 11.

Select the correct answer using the code given

below:

(a) 1and 2 only

(b) 1,2 and 3 only

(¢c) 3and4only

d 1,2,3and4

FWLB-F-GAI (5-A)

Which of the following are the objectives of
SAARC ?

A To promote the welfare of the peoples of
South Asia and to improve the quality of
life

2. To promote and strengthen collective
self-reliance among the countries of

South Asia

3. To contribute to mutual trust,
understanding and appreciation of one
another’s problems

4. To work towards ending cross-border
terrorism

Select the correct answer using the code given
below :

(a) 1and2only
(b) 1,2and3only
(¢ 1,2,3and4
(d) 3and4only

Pure, demineralized water, free from all
soluble mineral salts is obtained by which of
the following method ?

(a) Passing water through microfiltration
membrane

(b) Calgon’s method

(¢) Passing water through a cation
exchange and an anion exchange resin
bed

(d) By boiling
Consider the following redox reaction :
2Cug0 (s) + CuyS (s) — 6Cu (s) + SO, (g)

Identify the species among the following
acting as oxidant and reductant, respectively :

(a) Cu(l) and S of CuyS
(b) Cuand S of SO,

(¢) Cuand O of SO,
(d) Cu(I) and O of SO,
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12. #ic ¥ age ¥ waw § fefafes & @
HA woA T T R 2

(a)

(b)

(c)

(d)

frwm (CaS0,) # tew wfdwraa # e
¥ e & angea H afy wg ST R |

et figlm ¥ ogER, S@EE
faferrel & 9@ s & oft 5w ¥ S«
HIR & I &, @ Mg Hide i vEwar
4 B AR

iz & mfve aged & fow gsdforam
Tferre Ieoterft ?
sifew vaea # fou spSfcaam fafaere

3k gredforan fafeehe saer & it ==
T T 98§ ufed gt & |

18. gt W faewm wft ol § @ S waitus
S AT R S @ 2

(a)
(b)
(c)

(d)

fufernta
vfufem
Eacc
ST

14. Frefafes & & @ g il & @™
e arffsa 7F w2 2

(a)
(b)
(©)
(d)

FWLB-F-GAI

Ti

Fe

Pt

Zn

(6-

15. @i fra ged 98 wu % W) § Fafafea
el 1 femm Hifse .

1

wu # afgwel w e el @ ww
IAHH F AR, wdt qfa F wW FA
aret Rregsri H Afwt g e e @
Tq% U qRUTGR 1 TREET S 741 97 |
Tg WY AW qe Wi w9 O fen
e & o1, fam @ fF I geeR
# aAfeed ik drogr A, e @@
Tereht Y 7§ off |

IR ARUERI W Fad FUWT & Bl o
it sehiol ot 78 off I gwEwm #F A
g Ieehiol 7 Y 7§ o |

1918 ¥, 9@ 30 WY H T g, TWH AW
drogrt  wd afa A€ ag o, fg
e wror feufa & o |

Fa sfEwment 3 |y i gidwan iR
I el # aftfa wewslt % =
eI Hey Tnfa foman 2 |

= gfdwenatt § gg & gw@ w1 ff fmw
frm m 2

I el § ¥ HHE-Y TE E 2
(a) Hael 1,233 4

(b) HaA2, 3,435

(c)

*ad 3, 4,53 6

d wHad1,2,53R 6

A)

Downloaded from www.cclchapter.com



12. Which one of the following statements is no#
correct regarding the setting of cement ?

(a) The addition of a small percentage of
gypsum (CaSO,) lengthens the setting
period of cement.

(b)  According to the colloidal theory, gels of
hydrated silicates are formed and when
these gels harden, the set cement loses
strength.

(¢) Tricalcium silicate is responsible for
initial setting of cement.

(d) Dicalcium silicate and tricalcium silicate
are responsible for the final strength
which occurs in about a year.

13. Which one is the most abundant of all the
elements on Earth ?

(a) Silicon

(b) Aluminium

(c) Carbon

(d) Oxygen

14. Which one of the following metals does not
react with oxygen directly ?

{a) Ti

(b) Fe

e

(d Zn

FWLB-F-GAI (7-

15.

A)

Consider the following observations about the
largest stupa at Sanchi :

1.  Going by information available from the
inscriptions on the railings of the stupa,
the construction of part of one of its
gateways was financed by the Guild of

Ivory workers.

2.  Inits original early form, this stupa was
plain except for the stone railings and
the gateways, which were richly carved.

3.  The panels on the four gateways contain
sculptures only in the front and have no

sculptures on the rear side.

4. In 1918, when the stupa was discovered,
all of its four gates were intact but the

mound was in poor condition.

5.  Art historians have established clear
connections between the sculptures of
the stupa with events described in
Jataka Tales.

6.  War scenes have also been depicted in
these sculptures.

Which of the observations given above are

correct ?
(a) 1,2,3and4only
(b) 2,3,4and>5 only
(¢) 3,4,5and6 only

(d) 1,2,5and6 only
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16.

17.

18.

FWLB-F-GAI

fr=fafias & @ ®-8 gw ad gufea & 2
(375G /EIZT) (Frerarer)

1. gfdw g @ @M 4ff yaed CE
yoIfed

2. <t anh wifgaE &
EAL

3. favmaca #1 qgrwE ;541 v CE

4. «qoTYg F ARG : 631 viared] CE

5. ahifd < vgie yoifcg : 74 saredt CE

6

. I(HIEEY &1 HiGUSmERE g4l yaTed! CE

2 Ry T e w1 @ = ad W R
(a) Had 1,23 3
(b) a2, 33N 4
(c) Hawi4,53M 6
d Haa1,33M5

frafafigs #udi § @ S @@ 2 2

(a) 3F & 3% NEE & d@T & fore
Weh WTER, T ®YNE) Y guidt R |

fafaft S = fTem Tl
FEdrertiE § ga o |

HITHR A@THa w1 G g & s
died weenfes BCE # g1 o1 |

T gEE R, S w1 @ ywa &
zferoft s # sa9w w9 @ B o1 |

sreforer § qufAgifa Frafafees d @ $Ra
FEHAY T & e wmganeft w fEem
77 o 2

(a) Wi & &Y ¥ &1 96 FE

(b) TH FI H TR FH FHO HEAT

(c) TSTEd Wl Fahal H WTH HEHT

() 39 wi-uftyg & wws HE

. 63! YaTed CE

(b)

(c)

(d)

19.

21.

(8-A)

gehgeh! HifeRatl #§ g & fafer fra s
¥ 9 e, TgEEm 3 A da # 2

(a) Tt

(b) WTEEIHIGAT

(c) wTEEEM

@ —gfFasnam

W Gy % forg, Ui st Y ggEE 3R

& fares gra foe smaT 2 2
(a) mRNA
(b)
(c)

(d)

snRNA
miRNA
tRNA

FoEfwal §, T 3 H Fifdmet § fowd
agedt wiferet 1 onfawrg At F
Froferdertor & wewaqol yftes Bt 2 2

(a) veAtET

(b) A

() T&h
(d) IHq

et usren 3@ Afufsrn 6 =t fpm w finft
FA 2 2

IR GigyT, a9 3R pH

Faa FaER Figu 3R pH W, g ammm
A

%ael pH 3 auH R, fohg rawa |igo
T

Fae a9aH R, fhg pH 3 rawmr |igm
T TE

(a)
(b)

(c)

(d)
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16. Which of the following pairs are correctly
matched ?

(Inscription / Event) (Time Period)

1. Prayag Prashasti 4th century CE
by Harishena

2. Chinese traveller 6th century CE
Fa Xian’s Account

3. Mudrarakshasa of 5th century CE
Vishakhadatta

4. Harshacharita of 6th century CE
Banabhatta

5. Aihole Prashasti of 7th century CE
Ravikirti

6. Kavirajamarga of 8th century CE
Amoghavarsha

Select the correct answer using the code given

below :

(a) 1,2and 3 only

(b) 2,3 and 4 only

(¢) 4,5 and 6 only

(d 1,3 and5only

17. Which one of the following statements is
correct ?

(a) Brahmi, used for writing many Ashokan
inscriptions, shows local variations.

(b) The system of hieroglyphic writing was
developed in ancient Mesopotamia.

(¢) The system of cuneiform writing
developed around 3™ millennium BCE
in Egypt.

(d) An ancient script, Kharoshthi was
widely used in the southern part of
India.

18.  Which one of the following activities was not a
part of the daily time-table for a King as
prescribed in Arthashastra ?

(a) Receive reports on defense

(b)  Visit the town incognito

(¢) Receive revenue in cash

(d) Consult his Council of Ministers

FWLB-F-GAI (9-

19,

21.

22,

A)

Which organelle other than nucleus in
eukaryotic cells has its own DNA, ribosomes
and proteins ?

(a) Golgi

(b)  Mitochondria

()
(d)

Lysosomes

Nucleosomes

For protein synthesis, the amino acids are

recognized and carried by :
(a) mRNA

(b) snRNA

(¢) miRNA

(d) tRNA

In vertebrates, smooth endoplasmic reticulum
in cells of which organ plays a crucial role in
detoxification of toxic compounds ?

(a)
(b)
(c)
(d)

Spleen
Intestine
Kidney

Liver

The rate of an enzyme catalyzed reaction
depends :

(a) upon substrate concentration,

temperature and pH.
(b)

only on substrate concentration and pH,
but not on temperature.

(¢) only on pH and temperature, but not on

substrate concentration.

(d) only on temperature, but not on pH and

substrate concentration.
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24.

25.

FWLB-F-GAI

wr IR wEeeE gHl TeE @ T §
oy -

W 75q # faemm @ # ok e
AT T i § fomwe dar R

g T SifdrRiett # wwar 7, fhg
WE 91eY S § a9a1 |

(¢) WH 3R wEweE aE Wit 3R ure
Hifdresratt § foremm 89 # |

WHE 3N WEHeA A Had YRy
Hifdremrad § faemm B & |

(a)

(b)

(d)

Fo fawmy deaoi #, fampet (wedem) #
e ool | wedt ® | foemy sifart €, i

A T T HIRER & w1y Afedio &
e F E |

T ¥ AW A SRR § W9 & IH
& for fermo) weweroi 2 |

(c) fommoy w6 & wreia SrgeTFETEE B ¥ |
@) fommpel i w6 whea (Ften) | s
21

(a)

(b)

Tt geadia den fee W S off 2

@ FM W @ | g IR
WH-IGEH ASTTET il T |

(b) muRyE MR Wit I F foEE W TS
3 7Y g sfemfier ®

(¢ T g 3 ren-fndwr F ot w

(d) @EE IGET § af o R U &
el 3 FHy IeeHar § gfg |

(10-A)

27.

26. U% WRdE =mlt faRw wR e d 9w

Tl B | 7€ oo fored wefia & 2
(a) IR g #, g YA dgem § &
(b) TaH Hger #, g SR dge A
(¢) YTaH Hger 3 AR FgeH qHT 3
(d) ¥ YaH dged H, 7 € AR Fged §

frafifgs # & *FA, wRdw srferEen &
3= g ga+ 8 ?

1. fooeh & @a

2. IIP G E&Hi®

3. 10-affa A (G-sec) ¥faw

= f2w U g w1 v W Al IW g
(a) Fad 1

(b) Had 13 2

(¢) haw 23R 3

@@ 1,233

T e w adi A e § e w

2 3 ga faw & gaTerss wfeemy i st

2 | Pr=fefea & & S a2 2

(a) IGH AT WA 1 GDP H1 T B, fohg
WA Y T A e A€ R

(b) I A NG H TKT HF F w2,
féhg wra &t GDP %1 e T 2 |

(c) I AW WRA H GDP IR T 3™
3t =1 fewm 2

(d) IgH 3™ T G WLa H GDP H e R,
T € 3Eh! T AT H |
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FWLB-F-GAI

(a)

(@

: .(c)_

@

Both starch and glycogen are made up of
glucose, however :

starch is present in liver and glycogen is
present in red blood cells.

(B) glycogen is made in animal cells, but
starch is made in plant cells.

(¢) ~ both starch and glycogen are present in

animal and plant cells.

both starch and glycogen are present in
plant cells only.

In some viral infections, number of platelets
are reduced quickly. Platelets are essential
because :

(a) they along with red blood cells carry

oxygen.

(b) platelets are important to carry food to

cells through blood.
(c)

platelets remove carbon dioxide from
blood.

(d) platelets have a role in blood clotting.

The focus of the Second Five Year Plan was :

establishment of a self-reliant and
self-generating economy with emphasis

(a)

on agriculture.

(b) rapid industrialization with emphasis on
¥ the development of basic and heavy
industries.

removal of poverty and attainment of
self-reliance.

acceleration of food-grain production and
increase in employment opportunities
and overall productivity.

26.

27’

28.

(11-=-A)

An Indian businessperson buys shares in a
British car company. This transaction will be
reflected in :

(a) Balance of Trade, but not in Balance of

Payments.

(b) Balance of Payments, but not in Balance
of Trade.

(c) both Balance of Payments and Balance
of Trade.

(d) neither Balance of Payments nor

Balance of Trade.

Which of the following are High Frequency
Indicators of the Indian economy ?

1 Power Consumption

2 IIP General Index

18 10-year G-sec yield

Select the correct answer using the code
below.

(a) 1only

(b) 1and2only

(¢) 2and3only

(d 1,2and3

Suppose an Indian citizen makes an

investment abroad and earns a positive return
on her investment. Which of the following is
correct ?

(a) Her income is part of India’s GDP, but

not part of India’s national income.

(b)

Her income is part of India’s national
income, but not part of India’s GDP.

Her income is part of both India’s GDP
and national income.

(c)

(d) Her income is neither part of India’s

GDP, nor its national income.
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30.

31.

32.

33.
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afk RBI g1 mfEa Fdt fftr sgura wewmn
T R, o Sreferaeyn # ggr it mgfd -

(a) uftafda @t |

(b) = ST |

0 ¥ gfg et

(d) W IEIL IHE T |

et awt &1 gew wnw fafafes & &
HATTR 2
(a) Gd & agHed H F90 7@ ™ B R |
(b) Sfareft $u9 F gga A agESA § HE,
%Eamaﬂtw%a‘mmgﬁjiﬁ@%
|

(c) WiGel % WeH YU F HRU YA AEY
I B R |

@) geft & IrgHSE § 3 B 7 |

TG H TH Iepe 99 9 S @ e
e qufEa g @ | SENE w1 gE wew
HEET R ?

(a) AW

(b) EEGISH

(c) HTaA SIS

d) TEEISH HEHIFS

forma waredt # argweeiT S WA F FH H
HTOT T AT ?

(a) FEARITISTNHTS

(b) HTE AAIFATES

(© ®M

(d) drewHamh

frdt ety w1 @ i ol s F foo
freffea d A dRaad & 2

(a) I8 THEAH AT F Tfd w1 2 |

(b) T THENH =T Q TS T 2 |

(c) 9E JEWH w0 § i @ R |

(d) I8 THEAH O ¥ T HaT R |

37.

(12-A)

foredt fou o mem # 2kHz ImEfa H
€afy qUT 1 TG 35 cm B | 39 WEAW § @
21 km 1 gt 7@ FW & fhan T @ 2

(a) 30s
(b) 21s
(¢0 30s
d 41s

frafafga & @ e e e =ea & afd
& et w5 aftomm 2 2

(a) Al T GLE

(b) AT T T

(c) AT T TIE

(d) TEAEM HT TE

frafafea # @ S sor d R St e
& gt Y T a1 R 2

(a) WATE

(b) TAI-TER

(c) FETEAEE

@ f=

frafafga & & #F-a1, wma % @ @ ® e
FEQ TR, Sacyi 3R wfdE uea R 2

(a) =%

(b) IRIGY

groft 3 grew nfet A wew fve fafaga
el uré STt & 2

(a) Sftarsor &

(b) TEEYS IR FgEHT

(c) Thes M U o

(d) ol g &
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29. If the Cash Reserve Ratio is lowered by the
RBI, supply of money in the economy will :

(a) remain unchanged.

(b) decrease.

(¢) increase.

(d) have ambiguous impact.

80. Which one of the following is the main cause of
the acid rains ?

(a) 'The Sun causes heating of upper layer of
atmosphere.

(b) The burning of fossil fuels releases
oxides of carbon, nitrogen and sulphur
in the atmosphere.

(¢) The electrical charges are produced due
to friction amongst clouds.

(d) The atmosphere of the Earth contains
acids.

81. Biogas is considered to be an excellent fuel
which burns without smoke. The main
constituent of biogas is :

(a) methane

(b) hydrogen

(¢) carbon dioxide

(d) hydrogen sulphide

82. The depletion in atmospheric ozone layer in
last century was due to :

(a) chlorofluorocarbon

(b) carbon monoxide

(¢) methane

(d) pesticides

83. Which one of the following holds true for a
freely falling object ?

(a) It moves with a uniform velocity.

(b) It moves with a uniform speed.

(¢ It moves with a non-uniform
acceleration.

(d) It moves with a uniform acceleration.

FWLB-F-GAI

34.

36.

317.

38.

(13-A)

A sound wave of frequency of 2 kHz has a
wavelength of 35 cm in a given medium. How
long will it take to travel a distance of 2-1 km
through the medium ?

(a) 30s
(b) 21s
(¢0 30s
d 41s

Which one of the following conservation laws
is a consequence of the Newton’s third law of
motion ?

(a)
(b)
(c)
(d)

Conservation of energy
Conservation of momentum
Conservation of charge

Conservation of mass

Which one of the following is a permeable rock
that allows water to pass through it ?

(a) Granite
(b) Limestone
(¢) Quartzite
(d Sill

Which one of the following is the deepest,
inland and protected port on the east coast of
India ?

(a) Chennai

(b) Paradip

(¢) Tuticorin

(d) Visakhapatnam

The greatest diversity of animal and plant
species is found in :

(a)
(b)
(c)
(d)

Temperate forests
Deserts and Savannas
Arctic and Alpine systems
Tropical moist forests
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39. ‘gufe™ & Wn # f=fafes & ¥ | s

40.

41.
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qE R 2

(a) I8 Meref-gfas (fe) deFi w fmada
3are ¥ wifed (Wiede) uratE vae # |

(b) I8 wed 9 § e v I R |

() TWUHAGR

(d) %% fossa & wsh Gehiof e R |

fafafea & & a1 srean g ant 2 st
fova % 3 ofeifis w0 & fsRm &t =

Sirgar 2 2

(a) WHETETH - f&g wEmEmHY Tyd ani
(b) IOt rewifesh St Awl

(©) 9 3ATH TS &Y YLt vl

(d) Iadt wemra Tt At

2 few T Fe F1 w@m W & 7 AP F

AR T F F FHR H 7= HifA -

1. 391 1 399N QU AT gEAa: 39 9RER
g e s R St FfY w@ & W oy
&1 9o A B |

2. Afe 3eq e Ieurfen forar e 2, &
T 91 S Fha1 @ A g e
Hehdl 2 |

3. U§ WG: B Y w & it ® e
yaaE Bt @ e seifieh & e
ST foRa Siran & 3 7 o smar 2

E T
(a) ﬁﬁﬁiﬁﬁ

(b) HEH HfY
(©) ﬁiﬁﬁ?ﬁ
(d) =RE HfY

42.

45.

(14-A)

FR A, FR B &I g1 #, S 6 60 km vy 52
1 = & i @ R, v fuifa g0 @@ s
4 1 "er wftes ot @ | IR R A o =
QAT At R, A 9% 36 g B W B A g
4, St % 60 km ufd 52 ) =1t & nfy W @
2, 1 921 98 7 H GHhdl 8 | B A H 9
=1 km fd g1 & et R 2

(a) 30

(b) 40

() 45

@ 50

A ofifse foreft 2t & @@ W A, B 3t ¢ d=
T ol gu & Fomeht Frepra gwar 1:2: 3% | w@
F A 9 g B, @ g T w2
H 1 9 1 gHF @ R 1 AfE A 3 C g g
& fohg B @2 8, 79 wrlt Y gt < =1 @l ER
% fepa fire 1 wma & 2

(@) 75

(b) 90

(¢) 105

@ 120

w6 gl x km fsar 1 © T
e % fowdht wag wwaer @ @i 15 =afe fee
ft fen & a0 # W% | A} e gt ) waw
W fog P & od fan # nx km gt 1 7m0 i 2,
AP W A9E HH % fou amuent e fewm ®
e FE Al afs A F fo e gh
A 8 2

(a) aﬁﬁ"ﬁf

(b) ae ufeem

() gd a1 ufvem g forelt o= foem & el
@ s oft fafeera fean

afg x 3 y fieiha s weamd O §
x % 371 $ NqeT-agel H y YN o s 2
3N x—y=36%, d xy o A AT & ?

(a) 1611

(b) 2701

(c) 4031

(d 5603
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39. Which one among the following statements |42.
about ‘Drumlin’ is correct ?

(a) It is a streamlined hill moulded in
glacial drift on the till plains.

(b) Itis a city located in central Europe.

(¢) Itisariver.

(d) Itis anarrow road in Tibet.

40. Which one of the following is the busiest sea 43.
route and links two industrially developed
regions of the world ?

(a) Mediterranean — Indian Ocean sea route
(b) The Northern Atlantic sea route
(¢) Cape of Good Hope sea route
(d) The North Pacific sea route
. . S 44.

41. Using the code given below identify the type of
farming on the basis of given characteristics :

1. The produce is consumed entirely or
mainly by the family who work the land
or tend the livestock.

2.  If a small surplus is produced, it may be
sold or bartered.

3. It is generally small scale and labour
intensive with little or no technological
i t.
inpu .

Code:

(a) Extensive farming

(b) Intensive farming

(¢) Subsistence farming

(d) Commercial farming

FWLB-F-GAI (15-A)

Car A takes 1 hour more than car B, which
travels at a speed of 60 km per hour, to cover
some fixed distance. If car A had doubled its
speed, it could cover the distance in 1 hour
less time than car B travelling at 60 km per
hour. What is the original speed of car A in km
per hour ?

(a) 30

(b) 40

(c) 45

(d 50

Suppose A, B and C are three taps fixed to the
bottom of a tank with draining capacity
1:2:3. When all three of them are on, it takes
1 hour to drain out the full tank. If A and C
are on but B is off, then how much time, in
minutes, will it take to empty out a full tank
of water ?

(a) 175
(b) 90
() 105
(d) 120

Assume that the Earth is a spherical ball of
radius x km with a smooth surface so that one
can travel along any direction. If you have
travelled from point P on the Earth’s surface
along the East direction a distance of nx km,
which direction do you have to travel to return
to P so that the distance required to travel is
minimum ?

(a) [Eastonly

(b) West only

(¢) East or West but not any other direction
(d) Any fixed direction

If x and y are two-digit prime numbers such
that y is obtained from x by interchanging its
digits and x — y = 36, then what is the value of
xy?
(a)
(b)
(c)
(d)

1611
2701
4031
5603
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Y1 ATl TH SR S R | 3 et g
Sl e d R i A R F
93 & faemrer forn sman R, A 39 wefy @ %
U &% % ar § fiefafes & & S
Y TEl R ?

(a) ¥E T TH & Y %A F qUN B |
(b) & TS A F Y AGA A FH B |

(c) ¥E TS UA & USSH Buea & 3 2 |
(d) AT AHS

9 & gran 3 wedm F fog @meT (OSCE) %
TR effea f A s ad § 2

1. 388 30w, qer uftrn o sife @ g
57 %9 Wit # |

2. & qd waeH, §ud H Jeum, dwe
oY 3R WS el % &9 §
TerHifas amat o ffs &% ¥ fow o
H9 YEgd T # |

3. OSCE %I Wigfish Iwaifca gudta &= &
=1 & T w1 R |

4. OSCE % favia srm sresrdt & |

e o e g2 1w w= o I g

(a) had 137 2

(b) Fad 1,233

(© 1,2,33M4

(d) Fas 33 4

48. FE (Quad) &% WR H f=fafegs § @

49.

(16-A)

BT/ FAY Y TR B/ 2

1. %€ WX o9 H wE B, IW, WRE,
stregferan, quae ik Wi |

2. W6 F weHl & fi9 i gwam U
HEEqUl SYAHHI 9 B |

3. TR F HeEl 4 #ifdes-19 dfT w
FRSR TR H1 T34 T |

Hr= fw me g w1 @i W= wd 3w gh -
(a) whad 1

(b) ae 130 2

(c) adt 23 3

d 1,233

TS A SAMRR ST &1 737 fore A &
arefier fopam T ot 2

(a) WHE AfUHR TeEor ffgm, 1993

(b) THE IfeHR *1 w@Ew 3R wEt=EE
srfufem, 1993

(c) W Afywr fufrm, 1993

(d) wHa AfwR I sfufem, 1993
fafafes & & *Rd@, 3¢ = &6
snferpiites smn/smand 787 2/% 2

1. I

2. A

3. @fwm

4. <

A1 o e e w1 @ W I g
(a) ael 13K 3

(b) Hae 13 4

(¢) haw 13k 2

d) e 2
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46. Sixty-four cubes of sides 2 cm each are
combined to form a cube of side 8 cm. If four of
the smaller cubes along the diagonal of a
surface are removed from the surface of the
large cube, which one of the following
statements about the surface area of this solid
object is true ?

(a) It is equal to the surface area of the
large cube.

(b) It is less than the surface area of the
large cube.

(¢) It is more than the surface area of the
large cube.

(d) Insufficient data

47. Which of the following statements about
Organization for Security and Cooperation in
Europe (OSCE) are correct ?

1. There are total 57 states from Europe,
Central Asia and America.

2. It offers a forum for political
negotiations and decision-making in the
field of early warning, conflict
prevention, crisis management and
post-conflict rehabilitation.

3. OSCE has the primary responsibility of
providing military security in the
European Region.

4, The decisions of OSCE are legally
binding.

Select the correct answer using the code given

below :

(a) 1and2only

(b) 1,2 and 3 only

(¢ 1,2,3and4

(d) 3and4only

FWLB-F-GAI

48.

49.

(17-A)

Which of the following statements about Quad

is/are correct ?

1 It is a group of four countries, namely,
India, Australia, USA and France.

2.  Maritime cooperation is an important
binding force among members of the
Quad.

3. The Quad members formed a working
group on COVID-19 vaccines.

Select the correct answer using the code given
below :

(a) 1only

(b) 1and2only

(¢) 2and 3only

(d 1,2and3

The National Human Rights Commission was
established under the statute of :

(a) The Protection of Human Rights Act,
1993

The Protection and Implementation of
Human Rights Act, 1993

The Human Rights Act, 1993

The Human Rights Commission Act,
1993

(b)

(c)
(d)

Which of the following is/are not an official
language(s) of the United Nations ?

1.  Arabic

2 German
3. Spanish
4 Chinese

Select the correct answer using the code given
below :

(a) 1and 3only
(b) 1and 4 only
(¢) 1and2only
(d 2only
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51.

52.
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9 FEYATRI H GETH I A o fsef gt
% fazor =t gug FA & fore s i I A
fafr s 2 2

(a) Traem
®) faemas fewdu
(c) SAThGIHTI

(d) 6 A™IA

frafafgs s d A S wd 2 2

(a) U famor 8@ 7 |

(b) Uera i 2 # |

(c) VAT HeT UGl & &4 8 |

@ uft VAT H IH T UIH F €9 F HrA
qaT? |

Iwrge, Foit, €0 i I § wEbfts o=

AR 2

(a) AT

(b) FATEGISH

(€ TEGRA
(d) HEA

 SeRfs v & Ay e i ifufseer &
St g 3= Bt 2 2

(a) W

b) dferm

(€ EEEA

@ AT

frdt Tau & weflg 9 w1 FEUSE (3189)
HE 1T 8 | I8 TG0 HA-AT R 2

(a) WfEIm FoES

(b) Urfirm FEREE

(c) Hfcaaw FoEE

(d) wifETm TR

57.

58.

59.

(18-A)

fefifgs & @ 9w 3@ 9@ § A=
Yart ¥ gag @ @1 ?

(a) e

(b) 3fETTRA ST

(c) ot AR

(d) THFHSIH AT
frafafga & & frdr rpfeaard’ & w9 § S

STt 91 ?

(a) 99 9z 9

(b) T ER I

(¢) WS TR

(d) TIITE TN IR

g1 i g1 & gafera hifg o gfeat &

2 for T Fe 1 wEm W w W g
g1 -1
(&sar &e7) (&)

A. AR 1. I YW

B. ARG 2. USRI

C. wrefam 3. duee

D. Tt 4. giwmon

%
A B c D

(a) 3 1 2 4

b) 4 2 1 3

c) 4 1 2 3

d 3 2 1 4

TRl IR ITH @ w1 fefafes @

wﬂﬂﬂw@gﬁﬁaaﬁtv

(@) &g a7 Tl I

b) 12 Recnaidt e :mﬁzﬁwa‘m
1z iy

(¢) 3R IIR= ;T e

@ 29K FUr ;. @R O

T
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51. The method used in separating a mixture of|56. Which one of the following commissions was

two nmiscible liquids having sufficient not associated with public services in India ?
difference in their boiling points is : (a) Aitchison Commission

(a) Filtration (b) Islington Commission

(b) Solvent Extraction (¢) Lee Commission

(¢) Centrifugation (d) Radhakrishnan Commission

d) Simple Distillati
(d) Simple Distillation 57. Who among the following was known as

3 3 2] 9
52. Which one of the following statements is Lokhitwadi’ ?
correct ? (a) Keshub Chandra Sen

(b) Gopal Hari Deshmukh
(¢) M.G. Ranade
(d) Gopal Ganesh Agarkar

(a) Alloys are mixtures.
(b) Alloys are compounds.
(¢) Alloys are always made up of metals.

(d) All alloys contain carbon as one of their |58, Match List-I with List-II and select the correct

components. answer using the code given below the Lists :
; { List-1 List-IT
53. The common element in graphite, fullerene, (Harappan Site) (Location)
diamond and graphene is :
A. Nageshwar 1. Uttar Pradesh
(a) Oxygen
@) - Nitrogen B. Alamgirpur 2. Rajasthan
(¢) Hydrogen C. Kalibangan 3. Saurashtra
(d) Carbon D. Rakhigarhi 4. Haryana
54. The gas generated on reacting zinc with dilute Code:
R A B C D
sulphuric acid is :
(a) 3 1 2 4
. - b 4 2 TR
(b) Helium () 4 1 2 3
(¢) Hydrogen d 3 2 1 4
(d) Nitrogen

59. Which one of the following pairs of books and

their authors is not correctly matched ?
55. An aqueous solution of a salt is known as v

brine. The salt is : (a) Bandi Jiwan : Sachindranath Sanyal
. d (b) The Philosophy : Bhagwati Charan
S of the Bomb, Vohra
(b)  Potassium chloride (¢) Indian Unrest : Annie Besant
(¢) Calcium chloride (d) Desher Katha : Sakharam Ganesh
Deuskar

(d) Sodium nitrate

FWLB-F-GAI (19-A)
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60.

61.

62,

FWLB-F-GAI

Treq searea 7' F w9 F et qwanfas e

=l fafgq +1 3g quacafadl & fom frafafaa

4 ¥ HH-H1/HH-8 Hequl fugew (am) 3/3 2

1. %= AT &, 3 TR e, @ v,
anfe

2. T &1 vifers faen

3. o wgd, @m fm mn W@ qw
FEI-HHS H TH

4. fafqw yer % gguie 1

i faw e e 1 i w=oad I g
(a) Fad 1

(b) hael 130 3

(c) had 23 4

d) had 3

e H, IfEn gera: diem % fefifea faa
UZh & IT9ET F ST B 2

(a) G913

) ferfm

(c U I

d) THE

i qETd: Wh WsWl | a8 i Ig

HIHIST R TEd R | T AR aw § g

A TR ?

(a) wﬁmﬁmmﬁﬁmﬁ?ﬁﬁ?ﬁ%l

(b) < § ¥ T HIRE 7€ Bt & |

(c) TR ® ST T IR 3R W&d
wifirewrd, 31 At # |

@) e # i Hifveed 76 Bt & |

63. FEEEee, W MM T@ F yEA F forw

e, fEm ok antw N damEt #
JrETEhal gl 8 | I8 fopueh weam & meoft §
Hifaq &rar & 2

(a) o=

(b) AT

(c) <AHIHT

(d) HA=EEE ™

AW Hd G99 I Aed g9T IRET & AfFes
A a1 B | 78 T Rw s 2 2

(a) Wﬁﬂﬁﬁ?ﬁﬁfa%m
(b) FwSl A Afafeer afeediom 33 F
() TE | fafles Fai 29 & R
@ frafEt @ sifafte i 23 & for

FE T | Tohg U1 F Fa v # 2

(a) <] =79 3R TTe] T & sfel 37

(b) |9 HIHR gRI W ford ¥ @ fore s
aret 3R # fraer iy

() WHEIT U’ &I WIg IR Haks vd «w
3un § faw 3y

(d) 39w d | IS T

66. HLW T 2022 - 23 U YA T FT GEY W

(20-A)

yeeh fafofiga & @ S 2 2
(a) Wﬁigﬂ?ﬂ:{

(b) &M =

(c) TATERA J@WE W 4%
(d) wHEEeh! (afsudt)
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60. Which of the following is/are important |63.
markers for the archaeologists to identify an
archaeological site as a ‘center of craft
production’ ?

1. Evidence of raw materials such as stone
nodules, whole shells, ete.
2.  Geographical expanse of the site
3. Evidence of unfinished objects, rejects
and waste material
4. Evidence of variety of pottery 64.
Select the correct answer using the code given
below :
(a) 1lonly
(b) 1and 3only
(¢) 2and 4 only
(d) 3only
65.

61. In humans, urea is mainly formed from the
metabolism of which one of the following
components of food ?

(a) Fatty acids
(b) Vitamins
(c) Amino acids
(d) Glucose

62. The lymph is mainly formed from the plasma
of blood and it surrounds the cells. The main
difference between blood and lymph is : 66.
(a) Lymph does not contain red blood cells.

(b) Lymph does not contain white blood
cells.
(¢) Lymph contains both red blood cells and
white blood cells.
(d) Lymph does not contain any cells.
FWLB-F-GAI (21-A)

For the digestion of carbohydrate, protein and
fat, enzymes such as amylase, trypsin and
lipase are required. It is secreted into the
duodenum through :

(a) Bile
(b)
(c)
(d)

Plasma

Lymph

Pancreatic juice

Lactic acid is formed in the muscles during
exercise or running. It is formed :

(a)
(b)
(c)
(d)

to give extra energy from fat.

to give extra oxygen from lungs.

to give extra energy from glucose.
to give extra energy from vitamins.

Fiscal deficit in the Union Budget means :

(a) the between
expenditure and current revenue.

difference current

(b) net increase in the borrowings of the
Union Government from the Reserve

Bank of India.

(¢) the sum of budgetary deficits and the
net increase in internal and external
borrowings.

(d) None of the above

Which one of the following is the largest
component of revenue expenditure in the
Union Budget 2022 — 23 ?

(a) Interest payments

(b) Defense expenditure

(¢) Expenditure on healthcare
(d) Subsidies
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67. Tt 3w Y fareht g1 emfara faftedt &t garfman

Fraferfiga & & o5 gl g om & st 2 2

1. mfEa Pft ot smma @1 smuE

2. HfEa ffter sk fageft el #1 mumE

3. mfaa it 3 GDP %1 U

4. IrfEa fftel ot o At ofiei =
I

Hi faw ¢ g w1 v W I gfe

(a) hael 131 3

(b) 1,2,33R 4

() %ad 2,33 4

(d) had 1,230 4

. ARG refeaeyr § avft @ Saft swd i T F

39 # gfg o &, @ redfegeaeen § =a &
F oI I1 @ U2 QT 1 J9fafdd @ | =
AT I 1 FEd & ?

(Feft e 1) aferfom
(b) (Fsh fEw 1) sfariwa
(¢ Tasafiar = fetamma
@) uyfg fatamamm

(a)

.l Bl AT THdl N Fo el F A9 T

fifeea U s W@ R @ ? |
I Y FT FEd & ?

(a) 3RfErd Fdt ffY 3EEE (CRR)
(b) wifafs @y s (SLR)
() g ¥ amftma ffy (CBR)
(d) wifafers S 3@ (SBR)

70. U Y hHl G A1Gd T H y = 10 cos ot 10

1.

72.

(22-A)

%mﬁﬁaﬁahmhww%m
O HT O T B ? (TET Tt T G
T 379 )

(a) 10w
(b) -10w?
{e) .0

@ =
w

T R a9 & dR I 98 G9F 900 § $e
STAT 8 | 39 91g 39 ARl I GEIR 9 ° e
|l 2 | A 38 HASH # ged ufedw R R, @

U™ % TR ?
(a)
(b)

(c)
(d)

i

WA #1 H, TH 38 gah ! Rl Serh AR o
FI IR AC: (axially) & FHT AT 2, o
g9% F IW §ga U HI IR afmgeh §
TN #2 W, SE #1 ) S ufm Y e
St R, @ a7 o6 o 1 gt g o
AR et R | 9 gl # Frafafes & @
HI-G1 HY7 & B 2
(a) QI WA A o9 # g i fewn fuda
&g 6t gt |

A WA ® o9 # 9w i fewn wwEEE
&t |
() ol T # § feft & off awr vanfaa
Bt |

WM o#1 H, §9 ¥ Ifte um waifea
gt |

(b)

(d)
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67.

FWLB-F-GAI

Adequacy of foreign exchange reserves of a
country is captured by which of the following
indicators ?

4 Reserves to import ratio

2.  Reserves to external debt ratio

3.  Reserves to GDP ratio
4.

Reserves to monetary aggregates

Select the correct answer using the code
below :

(a)
(b)
(¢) 2,3 and4only
(d)

1 and 3 only
1,2,3and 4

1, 2 and 4 only

If all the people of the economy increase the
proportion of income they save, the total value
of savings in the economy will either decrease
or remain unchanged. This phenomenon is

known as :
(a) Crowding out
(b)

(c) Paradox of thrift

Crowding in

(d) Paradox of prosperity

The banks are required to maintain a certain
ratio between their cash in hand and total
assets. This ratio is known as :

(a) Cash Reserve Ratio (CRR)
(b)
(¢) Central Bank Reserve (CBR)

(d)

Statutory Liquidity Ratio (SLR)

Statutory Bank Ratio (SBR)

70.

71.

72,

(23-A)

A simple harmonic motion of a particle.

is represented as, y = 10 cos ot 10. The

acceleration of the particle at time t = I will
10}

be : (symbols here carry their usual meanings)

(a) 1o
(b) -10 @?
© 0
@ 2

(0]

A wire of resistance R is cut into four equal
parts. These parts are then connected in
parallel. If the equivalent resistance of this

combination is R', then the ratio % is:

1
(a) E

1
(b) 1
c) 4
(d 16

In experiment #1, a bar magnet is moved
towards a conducting wire loop axially, with
the magnet’s north pole facing the loop. In
experiment #2, the same process as in
experiment #1 is repeated except that the
south pole of the magnet faces the loop. Which
one of the following statements is true in this
context ?

(a) The direction of current in the loop will
be of opposite nature in both the
experiments.

(b) The direction of current in the loop will

be the same in both the experiments.

(¢) No current will flow in either of the two
experiments.

(d)

More current will flow in the loop in

experiment #1.
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73.

74.

75.

FWLB-F-GAI

frafafga & & 9, geft w dew § afeda
1 el AT H R ?

(a) 9zt & a7g i Afa

(b) e T A HE T YO

(c) <igHT &1 gF % IRI AR iR

(d) gt it 7= 77§ IREiE e

frafefga suat w famm Hifvw .

1. = fm 3d yonfeai — fay, T sk
:‘;lg;%auﬁ(éﬁm)%ﬁmmﬂﬁm

|

2. ¥ gzl W HEd uf e A & H |
T 7 |

3. fagt # T 3K & 1600 km T &
$ @t & ofiw I=ar § Hae 200 He w5
BER |

I wydl § F FA-A Tl F 2

(@) 1,233

(b) Had 23R 3

(¢) had 13N 2

(d) ad 13K 3

fr=fafiga s w e Hifsw .

1. fowa i #¢ ggow wba JEad g F
e € |

2. $O Y9d Y@ g9 99 F F9 H T T
21

3. UAHEETHE Heh & Ta@ @el qdq
e &+t § |

4. UH-ITANH Heh IeAleH & ad &
defra frex S sargan |

Iod wYH A | P8 T E 2

(a) Hae 132

(b) ad 3 AN 4

(¢) haet1,23M 4

(d) Hae1,23R 3

76.

.

(24-A)

g1 & g1 | gafea e i gt &

H= fou 1w e 1 = = aE W g
-1 -1l
(FHirsor (&7)
GIGET)

A. Y3 1. e

B. R 2. gfiqur Tkt

C. g 3. It smfE

D. J¢g 4. zfeacft smfem

%c:

A B C D

(a)y 2 1 4 3

b) 2 4 1 3

{e). ;58 1 4 2

@ 3 4 1 2

sem (freie) & ar # fFafafega s w
forem $ifsw

1. e # Y Soeg-ageEid wEd
wE Ja1 8, Wi 9 AW faw 3R
@TEE ¥ sk gt § 31 e #

2. e @fiw, merf o, ufestifiers
IR U % 33 |id 2 |

3. Afvas I =R #§ san (dam) afea,
MNAA F AT 3% AFHE |

I FA A A P T E 2
(a) Had 13K 2
(b) ae 13K 3
(c) ad 23N 3

d 1,233
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73. Which one of the following correctly explains | 76.
the change in seasons on Earth ?
(a) Tilt of the Earth’s axis
(b) Rotation of the Earth on its own axis
(¢) Revolution of the Moon around the Sun
(d) Interaction of the Earth with other
planets
74. Consider the following statements :
1. The Great Northern Plains are formed
by basins of three distinct river systems
— the Indus, the Ganga and the
Brahmaputra.
2. They are one of the most densely
populated areas on Earth.
3. Between the Yamuna at Delhi and the
Bay of Bengal, nearly 1600 km away,
there is a drop of only 200 metres in
elevation.
Which of the statements given above are
correct ?
(a) 1,2and3 v
(b) 2and 3 only
(¢) 1land2only
(d 1and3only
75. Consider the following statements :
1. Many of the world’s largest mountain
chains exist beneath the sea.
2.  Some mountain chains are revealed as
island arcs.
3.  The mid-oceanic ridges form the longest
mountain chains.
4.  The mid-Atlantic ridge rises thirty-three
metres above the floor of the Atlantic.
Which of the statements given above are
correct ?
(a) 1and2only
(b) 3 and 4 only
(¢ 1,2and4only
(d 1,2and3only
FWLB-F-GAI (25-A)

Match List-I with List-II and select the correct
answer using the code given below the Lists :

List-1 List-I1
(Temperate (Region)
Grassland)
A. Prairies 1. Eurasia
B. Steppes 2. South Africa
C. Pampas 3. North America
D. Veldt 4. South America
Code:
A B C D
(a) 2 1 4 3
(b) 2 4 1 3
) 3 1 4 %
@ 3 4 1 2

Consider the following statements about

millets :

1. Millets are often referred to as
climate-resilient crops because they can
grow on arid lands with minimal inputs

and maintenance.

2.  Millets are a good source of minerals,
dietary fibre, antioxidants and protein.

3.  Millets, including sorghum, account for
less than 3% of the global grains trade.

Which of the statements given above are

correct ?

(a) 1and2only
(b) 1and3only
(¢ 2and3only
(d 1,2and3
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Raer : sme T e e gew 7 ow #)|81.
IRErTTar W §T @@e W i 8, Wi 3 a8 R
78 ar o s g |

E= 1 A R4 g B
wfaeaar | 20 |45 | 15 | 8 | 12

78. U % e gl & fore, g § @ @ et
s 6 femmar i wiidemar 349 @ 3ifers € 2
(a) 4
(b) 5
(c) 6
) I

79. AW 91 FM a1et 7 i °, 39 9&W F I | 82
i yfowaar «= & st I feaw R ammar
22
(a) 42%%

5
b) 41-%
(b) 7

4
40—%
(c) il

2
d et
(d) 397%

80. 3R “0” 3l “U” wdi® ¥4 ¥ 5040 W I %,
91 93 A BN e H WIH g &, al T 7,
a3 A1 SIS e H, EW “E”  Fpat IR aman
22
(a) 11840
(b) 11600
() 11430
d) 11340

FWLB-F-GAI (26-A)

A AT a, b 3 ¢ FF i gqel demd @

?%a+b+c=abc.

frafefaa st w fmm Hifvw

1. a, b 3 ¢ % THIG WIS TH YAqY} T
2

2. a, b 3N ¢ N EeHS T1EF 1 3K 2 F A9
FR1

I HYET § A BT/ T 2/

(a) had 1

(b) had 2

(c) 1aﬂtza=ﬁ

d JI@1,T82

Ut fraft div-aihie deand dva ¥ ¥R f6
T 3R 3Rl h IGHAY A UTH HEAT H W
3962 ? (foreft aieh it grrgfer =4 i et 2)
(a) 4

b) 5

{c): + b0

d 40

Frafafgs & & /a8 $a= v 3/8 2

1. SEE @ g g v wfen R R
9g FHEE F1 fewn i 9 @ w9
B S B |

2. At fawfa 3o #, 3=1 ormg et A1
e # g gl # |

f=r e e e @1 I W ad I gh

(a) had 1

(b) Hae 2

(¢ 13 23M!

d JI@1L,AH2
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Directions : The next three items are based on a |81.
survey on occurrence of vowels in a certain book
irrespective of whether they are in upper or lower
case.
Vowel A E I 0 | U
Percentage 201 461,15 8 12
78. For how many pairs of vowels is the chance of
occurrence of any one of the two more than
34% in the book ?
(a) 4
(b) 5
ey 8
d 7 82.
79. Among the three vowels which occur
minimum number of times, what is the
percentage of occurrence of the letter that
occurs the maximum number of times among
them ?
6
( 42— %
a) 7
® 412%
i 83.
4
() 40—%
) 7
2
d 39—-%
/ 7
80. If “O” and “U”, irrespective of upper or lower
case, occur exactly 5040 times, then how many
times does the letter “E” occur in the book in
the upper or the lower case ?
(a) 11840
(b) 11600
(¢) 11430
(d) 11340
FWLB-F-GAI (27-A)

Suppose a, b and c are three distinct natural
numbers such that a + b + ¢ = abe.

Consider the following statements :

1. The arithmetic mean of a, b and c is a
natural number.

2 The harmonic mean of a, b and c lies
between 1 and 2.

Which of the statements given above is/are
correct ?

(a) 1lonly

(b) 2only

(¢) Both1and2
(d) Neither 1 nor 2

How many three-digit numbers are possible
such that the difference between the original
number and the number obtained by reversing
the digits is 396 ? (no digit is repeated)

(a) 4

b 5
(¢) 50
(d 40

Which of the following statements is/are
correct ?

1. Population ageing is the process by
which the share of the older population
becomes proportionately lesser.

% In most of the developed countries, the
population in higher age groups has
increased. : ;

Select the correct answer using the code given
below :

(a) 1lonly

(b) 2only

(0 Both1land2
(d) Neither 1 nor 2
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FWLB-F-GAI

84. Siorarg wufheRr & fow e’ (ACE) ¥ it

i frafafas & @ Fa/aR3 s g

2/8?

1. ¥ 9% (term) I Joay YREdd W T
;lgﬁmai%aﬁmamwﬂmnﬁww

l

2. I8 9g Ui gweia @ gefia R

9 o T e 1 W@ wad I gh

(a) Had 1

(b) e 2

(e) 1311?2337&?

@ TFar a2

. FATEHE =g 1S’ IR 1 R ?

1. I8 99 2030 T UH Hia Fsywre (FHea
d) fva 1 @@ yw w0 F g
Al 3R 3= yegE feaquifel # anf
¥ wH F F o Seanfaa wedt |

2. ;&ﬁmaﬁa&&aa@%&m%m

|

Hi= iy e e 1w W wd I g

(a) Had 1

(b) A 2

(¢) 13 23t

(d Td@1,TE2

(KAVACH-2023) & @R ¥

frferfiga weoet § & S /a8 ad 2/3 2

1. %8 9Ra H dmstt i wn F e andy
e sl & aft fiF i it ww Gy
9 gfufa 8 |

2. I8 4R @l 4 fved ¥ fw AICTE
3t BPRD gRI W9 &9 & 3RY fkan man
WA T T TR HT 3HA 8 |

i faw e e 1 v W= s g

(a) %aa 1

(b) had 2

(¢) 13 223H

d TI@1L,AE2

87.

38-

89,

(28-A)

FauTNT HE & Geo # f=fafea § @ |
%o GEl TE R 2

(a) ¥ Fa F Afenafes ewast § fe
T 3R uifere fbu gu o & s,
N, sl H weq s R gawis
e |

3 HT B G T T ot FEd F

3 el ffwand semeEw
;ﬁ;mﬁ_m@ﬁmﬁﬁaﬁ

r

g;ﬁmmﬁwmmﬂw 8000 BCE
¥ AgUTg | WIH A |

frefafed 3 & #Fa1 v gewis sfrew 727
22
(a)
(b)
(c)
(d)

e & ool #, fefifes aodifes F21
¥ | foroeht sg@ firean 2 2

(a) 3EY

(b) hruTeft

(c) gavfﬁ‘rft
(d) HIEER

g wrdt fyenl % ded #§ frafafaa suat

# & sl wdl 787 R 2

(a) ITEHI F AW R ufow I weom R
fég-aardt el 3 s fopu |

(b) %mﬁwmﬁﬁam@ﬁ%ﬁiﬁw
|

FEY G4 &% fFnl &1 WR, GHHRT T8

TuTEl grr W el | ot ot |

d) ¥ FU H F gk IR wRa i uey
ufdrn % fafte el @ et

(b)
(c)

(d)

OCP
CCE
NBP
BRW

(c)
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84. Which of the following statements is/are|87.
correct  about  ‘Action for  Climate
Empowerment’ (ACE) ?

1. It is a term adopted by the UN
Framework Convention on Climate
Change.

2. This term is related to the Paris
Agreement.

Select the correct answer using the code given

below :

(a) 1only

(b) 2only

(¢c) Both1and2

(d) Neither 1 nor 2

85. What is ‘Climate Neutral Now’ initiative ? 88.
1. It encourages organizations and other

interested stakeholders to act now in
order to achieve a carbon neutral world
by 2030.

2. It derives its aims from the Paris
Agreement.

Select the correct answer using the code given

below : 89.

(a) 1only

(b) 2 only

(¢) Bothland2

(d) Neither 1 nor 2

86. Which of the following statements is/are
correct about KAVACH-2023 ? 90.
1. It is a joint coordination committee of all

three wings of India’s armed forces to
protect India’s borders.

2. It is India’s national level hackathon
jointly launched by AICTE and BPRD to
tackle cyber threats.

Select the correct answer using the code given

below :

(a) 1only

(b) 2only

(¢) Bothland?2

(d) Neither 1 nor 2

FWLB-F-GAI (29-A)

Which one among the following statements
with reference to the ‘Neolithic Period’ is not
correct ?

(a) The characteristic features of the period
included ground and polished stone
tools, agriculture, animal domestication
and pottery.

This period is also known as the New
Stone Age’.

The characteristic features appeared
almost at the same time in various parts
of the subcontinent.

Earliest evidence of agriculture is found
from Mehrgarh around 8000 BCE.

(b)

(c)

(d)

Which one of the following is not a pottery
type ?

(a) OCP
(b) CCE
(¢c) NBP
(d) BRW

Which one of the following political centers
finds a mention in Ashokan inscriptions ?

(a) Indraprastha
(b) Kaushambi
(¢) Suvarnagiri
(d) Kandahar

Which one of the following statements with

reference to the ancient Indian coins is not

correct ?

(a) The Indo-Greeks issued the first coins
bearing the name and images of rulers.

The Kushanas issued the first gold
coins.

(b)

(¢) The Kushana gold coins were different
in weight from the coins issued by

contemporary Roman emperors.

These Kushana gold coins have been
found from several sites in north India
and central Asia.

(d)
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91.

FWLB-F-GAI

few a5t & g F 9v § FrafeRed o w

fem HifSm

1. o (A 39i) § 67 ver H sfwiw
I WitE @ — v (T

), omEEa  (Fg@  wfd) ek
oy (eféroraifia) |

2. W 9T @ 6 3 s ) fftm emer
% Fe § wfya fobn s e, el
eI % o afer, smEdE %
MR 3R Zfonf ¥ e smamer |

I HYEl A § BT/ PEE T8 B/ 2
(a) a1

(b) Haet 2

(¢) 13K 234t

@ Ta1, T8 2

He diedar @ sanfeardis a%, ZiE-aEanE
Terl el | B 7 o @ 2

(a) SAeTS Tdd el

(b) HihIH T

(© I0a vda

d) e R Jrt afeat

@A % a) § fefafes s w faEw

i :

1. 9Rd #, ¥ Y-AHfAT IR wEEYe § i
St € |

2. U@ U # gAW Ead At 2
Forms ven § srfteraw S=rd 2 @

3. w@H F gHl R W & wEad & |
I YA F A B/ T A
(a) ad 13K 2

(b)) Fae 23R 3

(¢) ae 13X 3
(d) a4 3

94. Trafefiga oAt v famm Hifd :

95.

(30-A)

1. qadfa St & I fga s %
forg foman s wehan R @ s ™ w@ W=
I Y IEe, Y, = iR ged ¥
fore foman s wear 2 |

2. fogd & $® = @l A gorn § T
Fall A wEdt gt ?

3. dM faEa ¥ @l # W@H #g W
S % for Sfraren $uet @1 ggT W@ §

394 HYEl ° F BT /BAR T 2/ 0

(a) FHad 1
(b) 1,233
(¢) Thad 13 3
(d) had 23R 3

g1 %1 g1 & gafe Hifsg i gt &
= f3u e e 1w W= Ed Iw g

g1 -1
(HTTT (farg)
F97)

A WiFgW Hav 1. AT ANR

AT WA 31

drgeparsft

. et 39 ygEE

. URE W HEGH
foraa

. WA A9 i
HomriE gued 3
! Fgem

(d) 3
fivew 97 B f@faer foraeta @ syra aa
2004 WHS H I=AH AEEE W Ay
Fr=ferfiga & & fored dafta 8 2

(a) 3NHF & ARHR

(b) e # fem & favg aftew

(c) H=1 HI HAfHR

d) e feamor = sAfter
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91. Consider the following statements about the |94,
practice of Vedic sacrifices :
1. The shrauta (Vedic sacrifices) involved
the use of three fires — the garhapatya
(householder’s fire), ahavaniya
(offeratorial fire) and dakshinagni
(southern fire).
2.  These fires were supposed to be placed
in pits of different shapes, i.e., the
garhapatya to be square, ahavaniya to
be round and that of the dakshinagni,
rectangle-shaped.
Which of the statements given above is/are
correct ?
(a) 1lonly 95.
(b) 2only
(0 Bothland2
(d) Neither 1 nor 2
92. Trans-Siberian Railway from St. Petersburg to
Vladivostok does not run across :
(a) Altai range
(b) Caucasus mountains
(¢) Ural mountains
(d) Ob and Yenisei rivers
93. Consider the following statements about
Barchans :
1. These landforms are found in Thar
desert in India.
2. The windward side has concave slope
with maximum height at the centre.
3. Two ends of the barchan are called
horns.
Which of the statements given above is/are -
correct ?
(a) 1and 2 only
(b) 2 and 3 only
(¢) 1and 3 only
(d) 3only
FWLB-F-GAI (31-A)

Consider the following statements :

1. Geothermal energy can be used to
produce electricity or its hot water can be
used directly for industry, agriculture,
bathing and cleaning.

2. Nuclear energy is often cheaper than
some other sources of electricity.

3. Thermal power stations burn fossil fuels
to create steam to drive the turbines.
Which of the statements given above is/are

correct ?

(a) 1lonly

(b) 1,2and3

(c) 1and 3only

(d) 2and 3only

Match List-I with List-II and select the correct
answer using the code given below the Lists :

List-I List-11
(International (Theme)
Convention)
A. Stockholm 1. Hazardous chemicals
Convention and pesticides in
international trade
B. Minamata 2. Persistent organic
Convention pollutants
C. Basel 3. Binding instrument
Convention on mercury
D. Rotterdam 4. Transboundary
Convention movement of
hazardous wastes and
their disposal
Code:
A B C D
YR | 4 3 2
{b): ik 3 4 2
(0.2 4 3 1
d 2 3 4 1

The Judgment of the Supreme Court in
Peoples’ Union for Civil Liberties v. Union of

India 2004 is related to which of the
following ?

(a) Right to Shelter

(b) Right against Custodial violence

(¢) Right to Information

(d) Right to Speedy trial
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97.

98.

100.

FWLB-F-GAI

frafifea & @ *9, & ysfiew @
geiftrd 8 2

(a) I ¥o¥ UST FHMF U5 AR 3K 3%
(1975)

3 e afgde, Jaey F |
Y& (1976)

(c) HFal AT Tef F9M9 IRT T (1978)
) TR aeveh Fam 9.9 FH (1978)

R % G99 F IFeag 226 & i 3=
e @ ufedl & weay #§ Frafafga § @
H-T1 YT TE 7@ 2 2

(a) g &G TeAEiT, TR, AfUHR-gwT,
Iy 3R gfedy fie St S gwar 2 |

WAL g0 Yed fedt off s =i
yafda @ R 3= fredt off e &
fore fe St fope <1 what € |

7% WRF 3e9g 32(2) ¥ oA I=aw
AR H Ve Wk B edidd W
Hehdt & |

3% AT & i et oft wiiterd
! fz st fopan < gehat 2 |

fffea f A PR-madt adi 2 2

(a) Rl H Vg, g8 fafy w fqum
Tuadt get & i v fawa 7

(b) WeA gwar 3 fearen wwadi o= &

arefiT fawa & |

satfim =mR it afoss osw gt %

i o v 2

(@) St Haer G gEt F e}

TRT Fev Vedw s iR wiwam
Favm frafafea § ¥ fred gefta € 2

(a) e % ara AfrRR

(b) WGEHI FHT aEH

(c) mﬁ{ﬁwm

(b)

(b)

(c)

(d)

(c)

(d) Tt 1 FwEm

101.

102.

103.

(32-A)

AT 1 O R FEwE & ar # feafafea d

¥ BH /A B wE 77T 2/F 2

1. sl wf misdh aRkes % R
SH-ER g § ia: fuges @ik
-ifa vaa i syaE § |

2. W@ Phfwa, =ms R UEdgEs
TH9-qd J@HTA 39S Ha B |

3. ¥ WAUM W T @H Hfga A H
ICHTEA a1 R |

4. W@ TR ¥ ¥ FMa s= F faw
%ﬁmwmmﬂww

|

= fou T Fe w1 @ W= wEd S g

(a) %ad 1,233

(b) ae 2 3R 3

(c) Had 1,234

d) a3

e & e sifufm, 2005 % R A

frfafgs § @ Sa/#9-8 a7 ad 2/8 2

1. GO AP A IRE (12) 8 |

2. HEA gEA1 Y Ui 9§ 6t iy F g
g RO HUT |

3. ﬁ@maﬂwﬁﬁgﬁﬁ%i’mm
|

= fiu U e 1 @ =W ad W g
(a) had 1

(b) ad 2

(¢) haet 1 3R 2

(d 1,23R3

frafafea & & wgen amfys ey w9 @1 S
FagwIfd @ S w1 1 eay Faifad gam 2
(a) T

(b) ERA F@SH

(c) @AY =S

@ du "
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97. Which among the following deals with Habeas
Corpus ?

(a) State of Uttar Pradesh v. Raj Narain
and Ors. (1975)

(b) Additional District Magistrate, Jabalpur
v. Shivakant Shukla (1976)

(¢) Mrs. Maneka Gandhi v. Union of India
(1978)

(d). Nandini Satpathy v. P.L. Dani (1978)

98. Which among the following statements
regarding the powers of the High Courts
under Article 226 of the Constitution of India
is not correct ?

(a) It can issue writs of habeas corpus,
mandamus, quo warranto, certiorari,
and prohibition.

(b) Writs can be issued to enforce any rights
conferred by Part-III and for any other
purpose.

(¢c) This power can derogate the power
conferred on the Supreme Court under
Article 32(2).

(d) Writ can be issued to any authority
under its jurisdiction.

99. Which among the following is not correct ?

(a) Legislation on criminal law, barring
exceptions, is a subject under the
Concurrent List.

(b)  Bankruptcy and Insolvency are subjects
under the Concurrent List.

(¢) Inter-State trade and commerce is a
subject under the State List.

(d) Banking is exclusively under the Union
List.

100. ‘Basel Convention’, ‘Rotterdam Convention’
and ‘Stockholm Convention’ relate to which of
the following ?

(a) Human Rights of Prisoners

(b) Management of Pollutants

(¢) Conservation of Wetlands

(d) Conservation of Rivers

FWLB-F-GAI

101.

102.

10‘3.

(33-A)

Which of the following is/are not correct about
the Mother’s Absolute Affection Programme ?

1. Allows all pregnant women to absolutely
free and no-expense delivery in public
health institutions.

2. Provides assured, comprehensive and
quality antenatal care.

3. Promotes undiluted focus on breastfeeding.

4, Provides medical and nutritional care to
severely acute malnourished children.

Select the correct answer using the code given
below :

(a) 1,2 and 3 only
(b) 2and 3 only
(¢) 1,2and4 only
(d) 3 only

Which of the following statements about the
Right to Information Act, 2005 is/are correct ?

1.  There shall be not more than twelve (12)
Information Commissioners.

2 The Chief Information Commissioner
shall hold office for a term of five years.

3. The Chief Information Commissioner is
eligible for reappointment.

Select the correct answer using the code given
below :

(a) 1only

(b) 2 only

(c) 1land2only
(d 1,2and3

Who among the following was the first
pro-tem Speaker to be unanimously elected as

the Speaker of the Lok Sabha ?
(a) Rabi Ray

(b) Hiren Mukherjee

(¢) Somnath Chatterjee

(d) P.A.Sangma
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105.
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Saud & wed # frafafiga sl w famw

$ifsu .

1. a9aH #eERr 3 Gifenm T/ $ 9w,
FUIfershT A€t & d¢ T N FWET A1HE

TeEt % @9 H hdedwH WM
fomam |

2. 98 FGEYl 9« HH d arad ¥ g i
fem ¥, 38 @i & fou, yarfza @7 @
2 38 59 Fad ¢ |

39 HYEl § & BH-A1/HH-A T /7 2
(a) a1

(b) haA 2

(¢) 13fR 23

@ F@1L,AH2

afor s & wt % g # Pefiea g w
o ifm

(#) (37%)
1. et HUH % Fd T
2. JARH HIE & U W
3. daflHeaE : WH F FUSI W
4. Fe ;WM % 9 W
I gmi § ¥ BH-A1/HH-2 T8 2/8 2
(a) ael 1
(b) el 130 2
(c) ad 2,33 4
d 1,2,33N4

frafafga # @ 9w 9y gy § fw
¥ & Me gW (SE-BoP) W Ichl WR
sfima ggstt (FEr-sma gy) AR H
it 7@ 2 ?

(a)

® fa=

() 9uUH
(d) ¥

107.

1080

109.

110.

(34-A)

THHE h qEadi afy w1 www fGeawfe
frafefaa fra toaw A dag 2 2

(a) dThIch

(b) =g

(c) W’lﬁﬂ

d I

arval & fore i widta fafercan o9 swawrey
1 39 frafofga § & fra =afr 5t smar 2 2
(a) WAl YaTEE] % AU

(b) F micEs

(c) WTadi vraTedt & WEk

d) B yasd F FuafufeE

eI AYU 3R garaq & wfafesa Hfaai &
g, S Py HEad 9, Fafafea # |
form negeTelia wite @a % Ioadi 3 2

(a) TANE & AR

(b) A b AaH

(¢) UY9E & T A9H

@) ¥ &F % P

R O 9 At dAeuse ¥E % &R

frfefiga st w famm HifS

1. Temem i afte F9 W Hse 9o o
STt # |
78 i I T R |
e reage 6 ufeafa & wro a8 @
wWH R |

4. wEd AEeM, W RS9 v ot
T H AR |

IR HAI A BHE /P T R/E 2

(a) e 3

(b) ad 23N 4

(c) ae 33N 4

(d Hae1,3 34
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104. Consider the following statements with
reference to Jainism :

1. Vardhamana Mahavira attained
Kaivalyajnana outside the town of
Jrimbhikagrama, on the banks of river
Rijupalika and in the field of a
householder named Samaga.

2. The state when the Karma particles
actually begin to flow towards the Jiva
to bind it is known as Asrava.

Which of the statements given above is/are

correct ?

(a) 1lonly

(b) 2only

(c) Both1and2

(d) Neither 1 nor 2

105. Consider the following pairs with reference to
textiles in Southern India :
(Tax) (Meaning)
1. Panjupeeli on cotton yarn
2. Nulayam on cotton thread
3. Tari kadamai on silk clothes
4. Sella on silk thread

Which of the pairs given above is/are correct ?

(a) 1lonly

(b) 1and2only

(¢) 2,3and4only

d 1,2,3and4

106. Which one of the following animals does no#
come under the category of four noble animals

(Maha-Ajaneya Pasu) carved on the round

drum (Anda-Phalaka) of the lion capital at

Sarnath ?

(a) Deer

(b) Lion

(c) Bull

(d) Horse

FWLB-F-GAI

107.

108.

lw‘

110.

(35-A)

The ruler Vindhyashakti during the period
preceding the Gupta Age is associated with
which one of the following dynasties ?

(a) Vakatakas

(b) Chalukyas

(¢) Kalachuris

(d) Sungas

The ancient Indian medical treatise for horses
called Ashvashastra is attributed to which one
of the following persons ?

(a)
(b)
(c)
(d)

Vagbhatta of the seventh century
The sage Shalihotra

Bhartrihari of the seventh century
Varahamihira of the sixth century

The celebrated group of poets in medieval
Mathura and Vrindavana called the
Ashta-Chhapa were the successors of which
one of the following medieval Bhakti Saints ?
(a) Kabir of Benaras

(b) Chaitanya of Bengal

(¢) Guru Nanak of Punjab

(d) Surdas of Braj region

Consider the following statements about

Laterite soil found in India :
1. Laterite soil is found in high altitudes of
Himalaya.

2. It is a very fertile soil.

3. It is a red colour soil due to presence of
iron oxide.

4. It is poor in Nitrogen, Potash and organic
matter.

Which of the statements given above is/are
correct ?

(a) 3only

(b) 2and 4 only
(¢) 3and4only
(d) 1,3 and 4 only
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9a # I oW arel Wit i mEa F an
e d a ST s gt 2 2

(a) T2 IO WG & ¥ W F I A
areft s fier (i) wae ? |

Ig Fa 3R O & @9 98 90 aret @
COR-

Ig W, Besh! HIehl 3R T8 gHE J&T W
IE A AT I HEE § |

7@ 20 ot Afegam o 30 foft afceam
% 9 F qEE 3R 50 — 100 cm F At
o I AT R |

I d= & a) # Fafofes s w ff=n
Hifdm
gufeehron Wew raae 9 § |
WIE U @SS JATHE) 9 2 |
Iaree faaeia s 9« 2 |
4. Sgee sfgadl Mg A B |
IE FoAE A A PAA TR E 2

(a) It 1,2 3R 3

(b) Faer 33N 4

(¢) haed 13 2

(d) aed 1,3 3N 4

Ha § THET ey wue % R # frfafea

HeAt W fomm HifS

1. Tifgwen Jfifea frest wgedt &1 e R |

2. oo e, soht wq@ wifa (wfishiar) &
w9 H, 3UaE) SiAfh ®1 3EE 2 |

3. U AW WRdE et 18 (@)
%1 ft 3 R |

4. @ NG myf weh T aeh T
éﬁm—ﬁﬂﬂw)m:ﬂﬁm@tmm
|

I94H HYE H A PHA TE 2

(a) Had 131 3

(b) e 1,3 3N 4

(¢) w234

@ 1,234

(b)
(c)

(d)

4
2.
3.

114,

115.

116.

(36-A)

Aforqe it Arhesd e H, FAE (wEaEE @)
7§ frafafiga & & SR ge1-fain wen afeq
Bt & 2

(a) WAeUZATE

(b) GieHICAwEA

(c) TANEA

(d) FHedrye

grq SOR Wl (@ emgw) % ar #

Ffeaffer d a sar s et 2 2

(a) I= SR (3% I®E) 3¥d 3= AR &
IR g1 8 3 i sar (A @rEs)
Fted i SR @ IER B R |

I= R g 3= s9R A s B 2
3R 7 R 3w e SR @ 3=
B |

3= SOR 3MEd 3= SOR § I=R BaT B
I e saw i = e @ e
g R |

I SR fEd 39 SR ¥ e g 2
3R e saw sftga e s r @ e
Bt ? |

IPL ke zAte & ar # fr=fafgs st w

frem $ifSw

1. @& ¥ & g A e R gAtie s |

2. THe &% vl wEmwn § 9w gm fhw
T T T (TR-3) T |

3. o raul W, wEAe e # @ mn |

I9YH HYAl § | PH-A1/H-E T B/E 2

(a) 1,23MW3

(b) e 23R 3

(c) hae 13K 2

(d Ha@3

(b)

(c)

(d)
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111. Which of the following statements about Ragi
crop grown in India is correct ?

(a) It is a millet crop grown in drier parts of
south India.

(b) It is a Rabi crop sown between
November and March.

(¢) It is a rainfed crop grown on red, light
black and sandy loam soil.

(d) It is grown between 20 degree Celsius
and 30 degree Celsius of temperature
and 50 — 100 cm rainfall.

112. Consider the following statements about rock
structure :

1. Conglomerates are clastic sedimentary
rocks.

2.  Slate is a non-clastic sedimentary rock.

3.  Granite is a plutonic igneous rock.

4,  Basalt is an extrusive igneous rock.

Which of the statements given above are

correct ?

(a) 1,2and 3 only

(b) 3and 4 only

(¢) 1and2only

(d) 1,3 and4only

113. Consider the following statements about

Ramsar Wetland sites in India :

1. Gahirmatha is the habitat of Olive
Ridley Turtles.

2.  Chilka lake is the habitat of Irrawaddy
Dolphin as its flagship species.

3. Nalsarovar Wetland is also the habitat
of Indian Wild Ass (Khur).

4, Tso Moriri Wetland is the habitat and
breeding ground of Black-necked Crane.

Which of the statements given above are

correct ?

(a) 1and3only

(b) 1,3 and 4 only

(¢) 2and4only

d 1,2,3and4
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114.

115.

116.

-A)

Which of the following soil formation process
takes place in Phumdis (floating fields) in

Loktak Lake of Manipur ?
(a) Laterization

(b) Podzolization

(¢) Gleization

(d) Calcification

Which one of the following statements is
correct about Spring tides ?

(a) High tide is higher than average high
tide and Low tide is higher than average

low tide.

(b) High tide is lower than average high
tide and Low tide is higher than average

low tide.

High tide is higher than average high
tide and Low tide is lower than average
low tide.

(c)

(d) High tide is lower than average high
tide and Low tide is lower than average

low tide.

Consider the following statements about IPL
cricket tournament :

1 Two teams won the tournament five

times each.

2. Chennai Super Kings remained
runner-up in five editions of the
tournament.

3.  On three occasions, the final was played
abroad.

Which of the statements given above is/are
correct ?

(a) 1,2and3

(b) 2and 3only

(¢) 1land 2 only

(d) 3only
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we sfem gFEffd T (Kue) % =R A
Frafafiegs st w faem Hifvw .

1. KIUG ¥ Y& &R0 &1 I anfesm
o fopam |

2. KIUG % die’ §&h01 & Y¥et &1 9
St ot |

3. KIUG % U8 G&H & HIfag & HROT
wgfira &t fear mam o |

I35 HYA A ¥ BHAT/PHE T /R 2
(a) 1,23W3

(b) et 23R 3

(¢) haw 13K 2

d) Hae3

A FFT FIRF AT B 3 Frfafaq
¥ @ 5w 3w it @ & e fgarfis it
FwH B ?

(a) 9

(b) AR fhTem

(c) ®H

(d) mH

NG TR I B, TR GRFF A ® U
=T S AT FE G AR ES ?

(a) mﬂaﬂtﬁ?ﬁiﬂm

(b) HEATSE

(c) HAlEH

(d) TS

aif¥es @i yart Ao 1 IS FET AT ST
??
(a)
(b)
(c)
(d)

HIETE °ret
FHYR 11

31’ B =
Fudt feam

121.

122.

123.

124.

125.

(38-A)

ffar (NISAR) 3w #1 fafwin @gw =1 @
femam 2

(a) S TRIEIE TRy Uit

(b) A WHTTeTH Ug Ta vsfifieym

(c) Iﬁmmﬁaqﬁ

(d JURE g o

‘Fftem FEt’ fha 2w d w8 wrda awifet
%! feen & fou Wi g gy R mn
FaE HREE R 2

(a) FHad

(b) ok

(¢) IHear

d) YsH

& fawm fm fofiees’ 7 2 2
(a) WER CPSE

(b) Fat CPSE

(¢) faf= I CPSE

(d) faf= 11 CPSE

e, T Rilg, g AR fAfgramn & 2
(a) W%WW
(b) WA % Jgh ¢H
(c) WA H queatis (guEities) e
(d) W N 9

Frafafas & @ fra wrd 81 99 3 2 @
¥ 17,000-nm H IRHEETR FadErgd I
wHR

(a) INSWfF

(b) INS HISH

(¢) INSVHERS

(d) INSV arfft
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117. Consider the following statements about

Khelo India University Games (KIUG) :
1. The first edition of KIUG was held in

Odisha.

2. The name of the mascot of the third
edition of KIUG was Jeetu.

3.  The first edition of KIUG was postponed
due to COVID.

Which of the statements given above is/are
correct ?

(a) 1,2and3
(b) 2and 3 only
(0 1land2only
(d) 3only
118. Exercise Ajeya Warrior is a biennial training
event between the Indian Army and the army
of :
(a) Nepal
(b) United Kingdom
(¢) Russia
(d) Japan
119. The journey of the First Phase of Sagar
Parikrama Yatra, an initiative of the
Government of India, was started from :
(a) Andaman and Nicobar Islands
(b) Maharashtra
(c) Karnataka
(d) Gujarat
120. The annual Kheer Bhawani Mela is organized
at:
(a) Kabaw Valley
(b) Kashmir Valley
(¢) Dah Hanu Valley
(d) Upper Dibang Valley
FWLB-F-GAI (39
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124,

125.

-A)

NISAR satellite is manufactured jointly by
Indian Space Research Organisation and :

(a) Japan Aerospace Exploration Agency

(b) National Aeronautics and Space
Administration

(¢) Russian Federal Space Agency

(d) European Space Agency

‘Operation Kaveri’ is a rescue operation

launched by the Government of India to
evacuate Indian citizens who were stranded
1 1
(a)
(b)
(e)
(d)

Kuwait
Ukraine
Afghanistan
Sudan

‘Rail Vikas Nigam Limited’ is a :
(a) Maharatna CPSE

(b) Navaratna CPSE

(¢) Miniratna I CPSE

(d) Miniratna II CPSE

What are Airawat, Param Siddhi, Pratyus and
Mihir ?

(a)
(b)
(e)
(d)

Super Computers of India
Battle Tanks of India
Supersonic Missiles of India
Indian Naval Ships

Which one of the following Indian Naval Ships
has recently concluded a 17,000-nm
trans-ocean intercontinental voyage ?

(a)
(b)
(c)
(d)

INS Tarangini
INS Mandovi
INSV Mhadei
INSV Tarini
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